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In simple harmonic moticn ion which Physical quantity is conserved.
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A man of mass 60 kg lift the body of mass 20 kg to the height of
A 30m. Calculate the amount of work done by man. _
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400 and 402 Hz are vibrate:i together?

‘ ’)ﬁﬁ':‘.‘ﬂ“mmﬁmﬂﬂ?{ N S 1
- Vihat 15 the effent of lemps ture 0n speed of sound
5 nt;rsr e AT el cal i RS P £y 1—:,1-@_, 1
—)lff»FCﬁ‘ldlc between trantverse ané longitadinal waves. (any
h"J'LC}
e T w01 HRel e i R T R Te afumas 3 @A, qm ot
5 s 0.2 H. F 10 w1 anadwa aa sy 1%

Apat ticle is doing simple anaouic motion its maxinum velocity is
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A circular disc whose radius is 0.5 m and mass 25 kg is rotating on
its axis with 120 revolution’s per minate, Calculate the moment of
Inertia of the disc and rotational kinetic energy.
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How will thé value of *g* vary with the increase in height above
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Derive first and second equation of uniform accelerated mation
by Calculus method.
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The refractive index of a glass are 1.52, 148, 1.50, 1.54, 1.4€

Then calculate relative error i measurement.
@/W BT ¢ RO Y Reafy @ @ Fre LSy = (00 2 T

x WA gen t §hvg § E A mm mpE I T A A T 7

The pozition of an object ai an instant © 15 given an -

(41 e

Wwhat is the faw of conservation of mechanical energy? Proye
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Write Newron collision law, Define elastic and Inelastic collision
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What do you mean by escape vclocity Establish the formula for
escape velocity from earth. -
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Define stationery waves. Drzw the {irst three hanmonics mode of
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